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5 Consider the following three statements:

1 10p* 41 and 10p* = 1 are both prime when pis an odd prime.
2 Every prime greater than 5 is of the form 6n + 1 for some integer n.

3 No multiple of 7 greater than 7 is prime.

The result 91 =7 x 13 can be used to provide a counterexample to which of the

above statements? q | =7X,3 Lells us 9] is not Pt‘]mg and , In Par(‘iw-laf thot
e Al is a multjple of 7 | '

M Let’s consider how tha “result relades b euth statement.

B 1ouly This can be done un order or Jou may have a Jense of

C 2 ouly whith ones are more acee ssible fo deal (vith

We begih with stobermont 3

A noneoft

3 onlv

1 and 2 only Stalement 3: 4“5 mulbiple of 7 Mis‘jn:alrf than 7 will
1 and 3 only NOE be prima, therefore bhis stokement is frue. o no
counter example  cauddl exist. We rule ouk D F G and H

S B v

G 2 and 3 only

H L2ad3  stalement2: 4 counterexample b this statement mast

be a prive. number greaer than S Chot cannpf be wribten o b
Foem én-i—\,@r any n. o

1 =605) +| might seem that ¢ relates b thes otadement but,
W Fad:, b does not be cauye 9l is na(‘ primg and this skaderment
only relokes b primie numbers We further rule out £ and C

Stedemaent | : Nuﬁwf 7nor 13 can be writéen »n the hrm

Opt +1 or [0p*-] where pis an mkger; b alona prim.
U conbe written as /0/0"-/—/, whare p=3

2is an odd prime and  because 1 is noé prime | the rese i
U=T7x 13 does provide a countere xampl,

Thesefore | the answeris B,
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